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[1]PCB¥H (it 120 51 %%0.13 %%0.37
[1-1]E/7aaE 7 =)L 15 11 0.007 0.017
[1-2]Y78ane 7 c=/LJH 35 15 0.02 0.06
[1-3]M)7rae 7 ==L 39 14 0.01 0.03
[1-4]7hF7/nne 7 ==/ L 19 6.5 0.01 0.02
[1-4-112779)—PCBDYH 3,3' 44-Th7/oube 7 ==L (#77) 0.13 0.040 0.006 0.015
[1-4-2]1277F—PCBDHH 3,4,4',5-7 b7 /007 ==/L (#81) nd nd 0.01 0.02
[1-5]~> % 270ne 7 2=/ 9.2 2.7 0.009 0.024
[1-5-112 755 —=PCBDHH 2,33 44-~F7uue 7 ==/l (#105) 0.28 0.073 0.007 0.017
[1-5-2]12 755 —PCBDHH 2,3 44" 5-~Zraat’ 7 ==L (#114) 0.030 tr(0.008) 0.005 0.012
[1-5-3]12 75 —PCBDHH 2,3' 44-5-~ 4 7ant 7 ==/L (#118) 0.69 0.18 0.005 0.013
[1-5-4]2 755 —PCBDH 5 2' 3 4,4 5-~Z/unb 7 = =)L (#123) 0.021 tr(0.007) 0.006 0.016
[1-5-5]12 7553 —PCBDHH 3,3' 44 ,5-~Fruue 7 ==/l (#126) nd nd 0.007 0.018
[1-6]~F 7ot 7 =5 3.0 1.3 0.01 0.04
[1-6-11277F—PCBDHH 2,3,3'4,4,5-~F /oot 7=/ (#156) 0.036 0.017 0.005 0.013
[1-6-2]27 759 —PCBDIYH 2,3,3',4,4',5-~FHrnoe7 =)L (#157) tr(0.009) nd 0.008 0.021
[1-6-3]2 775 —PCBDHH 2,3'4,4'.5,5-~FHrout’ 7 ==/ (#167) 0.013 tr(0.008) 0.005 0.012
[1-6-4]27F ) —PCBDIYH 3,3'.4,4',5,5-~F Voo 7 =)L (#169) nd nd 0.006 0.016
[1-7]~7 % /aaEe 7 ==L 0.58 0.40 0.01 0.04
[1-7-112 755 —PCBDHH 2,2',3,3' 4,4',5-~FFZ/uut 7 ==/l (#170) 0.039 0.038 0.009 0.023
[1-7-2]12 775 —PCBDHH 2,2' 3,4.4,5,5-~7 Zrnut’ 7 ==/ (#180) 0.098 0.074 0.005 0.012
[1-7-3]27 59 —PCBDIYH 2,3,3',4,4',5,5-~7F /a7 ==L (#189) nd nd 0.008 0.019
[1-8]4 74 /unt 7 - =/L¥{ nd tr(0.06) 0.03 0.07
[1-9]/F7aae 7 ==/ nd tr(0.03) 0.02 0.05
[1-10]7 A ZupE 7 ==L tr(0.015) 0.063 0.007 0.018
R-1]~FH 7o P 88 86 0.03 0.09
BI7 VR~ 0.12 0.14 0.02 0.05
[417 4V KU 35 11 0.07 0.18
[5]=> RV v 0.63 0.20 0.04 0.09
[6]DDTHH 8.6 2.8 33%0.091 363%0.22
[6-1]p,p'-DDT 2.9 0.58 0.03 0.07
[6-2]p,p'-DDE 3.6 1.4 0.02 0.04
[6-3]p.p'-DDD 0.10 0.066 0.004 0.011
[6-4]0,p'-DDT 1.5 0.45 0.01 0.03
[6-5]o,p'-DDE 0.36 0.22 0.007 0.017
[6-6]0,p'-DDD 0.11 0.07 0.02 0.05
[717 2 V7 L FE 480 150 3%3%0.15 33%0.39
[7-1]cis-7 v LT > 150 46 0.04 0.1
[7-2]trans- 7 & )LT 180 59 0.05 0.12
[7-3]4 %7 a)VTF 2.3 0.77 0.02 0.05
[7-4]cis-/ F 7 )b 19 43 0.01 0.03
[7-5]trans- / F~ 2 &)L 130 35 0.03 0.09
[8]~7 % 7 v V¥ 50 28 3%3%0.10 3%3%0.24
[8-1]~F % 7 a)L 46 27 0.03 0.07
[8-2]cis-~T7 & 7 o)L TRF T K 3.7 1.3 0.01 0.03
[8-3]trans-~T7" % 7 B )L TR F L K nd nd 0.06 0.14
[9-1]2-endo,3-exo0,5-endo,6-x0,8,8,10,10- 42 %7tz )L ) (Parlar-26) nd nd 0.2 0.6
[9-2]2-endo,3-ex0,5-endo,6-ex0,8,8,9,10,10- /F 727k )LF > (Parlar-50) tr(0.1) nd 0.1 0.3
[9-3]2.2,5,5.8,9.9,10,10- /F 2tz )LJ (Parlar-62) nd nd 0.6 1.5
[10]=A L > 7 % 0.11 0.04 0.01 0.03
[11-1]a-HCH 250 43 0.04 0.09
[11-2]B-HCH 13 2.7 0.02 0.06
[11-3]y-HCH 61 12 0.04 0.11
[11-4]8-HCH 2.4 0.39 0.02 0.05
[131F ) 7 oo P o) 560 2,300

710 1,000 27 72

1,100 860
[13-11123-FU 7B 120 350

230 170 11 29

410 150
[13-2]1,2,4-F ) 7o _XrB 380 1,800

360 770 10 27

570 650
[13-3]11,35- RV 7 ma_uB 61 160

120 63 6.3 16

140 59
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45 Fo 7 oo~o B (Rm) 120 330
130 160 16 40
230 130
(14112347 Fo 7 aa~_o Py 60 170
65 78 4.1 11
98 65
[14-2]11,23,5-7 R F 7 ma X B 18 77
24 33 5.8 15
40 30
(14312457 o7 aa_o By 41 38
44 44 5.6 14
94 36
[5]<v % 7 aa~o P 41 36
57 49 4.8 12
100 45
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